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Horp 0 BB, ,

Li&ﬁﬁ@iﬁtﬁﬁgij%ﬁﬁﬁ R ER 8 —Rasa
W12 Br Lt 5 B8 W B S A A e B e e (2.1) a9;@ M7 L
R T

y = CJu(x) + C, Yo(x) 2.2)
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d*u (n*—3) _
T [1 i ]u —0 . (24)
s n= %3 ! (.5}
HHERE T, QBB
U =0 (2.6)
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sin z CcOos
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b= | . (3.1)
AR M HEQR DB
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| = a3 Car =3 Carts (3.3)
y LT B
pam = di;x’" = mam1 = mam (3.4)
02m = 8 (mam) = mbam = m(mam) = mizm (3.5)
&%(3-3)1’{"7\(3-2)&W?%
by + (2% —n¥)y :2: [+ 8+ @2 —n)]Cart =0 (3.6}

E4G.6)h 2, RIFFE 2, 7 27, SRBBERE, IR TAHR

#
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FA(3.3) BRAX heysE—IHR Co,
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¢, =0} (3.8)
SRR B GBI s =0, 1,2, - BEEEMLOL,
4B pzs=0,%
Co(r® —n2) =0 (3.9)
EARBIRESEO . ® |
¢, % 0 (3.10)
s re=d4n 3.11)
XEHE
CLr+1)2—n?] =0 _ (3.12)
H] 4 ¢ =0 (3.13)
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BB RS IR
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3(2n--8)
#(3.14)W4m €y, Cp Gy, FHRRBAMTLAA Co AeYE. AHELARH
AP (3.3) oy RAFIRE A =

Cy = s=24,6 - (3.14)

xﬂﬂ an+4
" - + e - +...
22(n+1) " 24(n-+1)(n+2)2!

(___1>sxn+28 N ]
(n+1)---(n+s)sl

35 0 S EROEIHRR S, A RO B AR AR — AT
1 1

.7/:00[

(3.15)

C = 2*1‘(h+ 1) 2*i(n) (3-16)
AR n BIER BRI
: 1
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15 s AT S L B 4 » BT Y LA B R 58 TR
f:

y = AJu(x) 4 BJ _4(x) (3.21)
Hrp A K B BITERE, » RAEEE.
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